
AREA AND PERIMETER
[ESTIMATED TIME: 60 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

8.9 m

Diagram NOT
accurately drawn

1. [4 marks]
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2. [3 marks]
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3. [4 marks]
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4. [4 marks]
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5. [4 marks]
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6. [4 marks]
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7. [5 marks]
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8. [6 marks]
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10 cm Diagram NOT
accurately drawn 

8 cm 3cm 

9. [6 marks]
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Diagram NOT
accurately drawn

NA B

CD

9 cm 5 cm

The shape ABCD is made from a rectangle ANCD  
and the right-angled triangle NBC. 
ANB is a straight line. 
AN = 9 cm. 
NB = 5 cm. 
The area of rectangle ANCD is 36 cm2

Work out the area of shape ABCD.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm2

10. [4 marks]
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16 cm

4 cm

9 cm

10 cm

Diagram NOT 
accurately drawn

The diagram shows a shape.

Work out the area of the shape.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm2

11. [4 marks]
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12. [4 marks]
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(a) Calculate the circumference of a circle of radius 30 cm.
 Give your answer correct to 3 significant figures.

 ............................... cm
(2)

(b) The diagram shows a circle with radius 2.1 cm inside a square.
 The circle touches the sides of the square.

 Work out the shaded area.
 Give your answer correct to 3 significant figures.

 ...............................  cm2

(4)

Diagram NOT
accurately drawn

2.1 cm

13. [6 marks]

www.CasperYC.club Page 13 of 16



14. [3 marks]

www.CasperYC.club Page 14 of 16



The diagram shows the path of an athlete on a running track.

The path consists of two straight lengths and a semicircle at each end.
Each straight length is 85 metres.
Each semicircle has a radius of 36.6 metres.

Calculate the area enclosed by the path.
Give your answer correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . m2

85 m

36.6 m

Diagram NOT 
accurately drawn

15. [4 marks]
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16. [3 marks]
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